Fixed Point Theory, 22(2021), No. 2, 559-570 DOI: 10.24193/fpt-ro.2021.2.37 http://www.math.ubbcluj.ro/~nodeacj/sfptcj.html

MANN ITERATIVE ALGORITHM IN CONVEX METRIC SPACES ENDOWED WITH A DIRECTED GRAPH

LILI CHEN*, NI YANG** AND YANFENG ZHAO***

*College of Mathematics and Systems Science, Shandong University of Science and Technology, Qingdao 266590, China;

Department of Mathematics, Harbin University of Science and Technology, Harbin 150080, China E-mail: chenlili0819@foxmail.com

**Department of Mathematics, Harbin University of Science and Technology, Harbin 150080, China E-mail: 1342323863@qq.com

***College of Mathematics and Systems Science, Shandong University of Science and Technology, Qingdao 266590, China

E-mail: zhaoyanfeng1101@126.com

Abstract. The aim of this paper is to introduce Mann iterative algorithm by using the convex structure in the metric space endowed with a directed graph. First of all, the concept of the convex metric space endowed with a directed graph is given. Moreover, Mann iteration scheme and the corresponding convergence theorems for the G-monotone contractive mappings and the G-monotone nonexpansive mappings in convex metric spaces endowed with a directed graph are established respectively. In addition, an example is shown to illustrate that the Mann iterative sequence does not necessarily converge to the fixed point of the G-monotone nonexpansive mapping.

Key Words and Phrases: Metric space endowed with a directed graph, convex structure, Mann iterative algorithm.

2020 Mathematics Subject Classification: 46B20, 46E30, 47H09, 47H10.

1. INTRODUCTION

In the early 20th century, the Polish mathematician Banach [2] gave the famous Banach contraction principle and proved the theorem by Picard iteration. Due to its importance, numerous kinds of extensions and generalizations of this theorem have appeared over the years. In 2004, Ran and Reurings [7] extended the Banach contraction principle in the context of partially ordered set and gave a meaningful application to linear and nonlinear matrix equations. Moreover, Nieto and Rodríguez-López [6] extended the main fixed point theorem in [7] and used it to solve some problems of differential equations. In [4], Jachymski introduced the graphs into the general metric spaces and used them to replace the previous partially ordered structures. Furthermore, Jachymski extended the Banach contraction principle to the metric space endowed with a directed graph. Since then, many of new fixed point theorems are presented in the metric space endowed with a directed graph. For example, Alfuraidan and Khamsi [1] discussed the existence of fixed points for set-valued *G*-monotone quasi-contractive mappings and Reich contractive mappings in the metric space endowed with a directed graph.

In 1970, Takahashi [9] introduced the concepts of the convex structure and the convex metric space, he also obtained some fixed point theorems for nonexpansive mappings in the convex metric space. Moreover, Goebel and Kirk [3] studied some iterative processes for nonexpansive mappings in the hyperbolic metric space. In this work, we introduce Mann iterative algorithm by using the convex structure in the metric space endowed with a directed graph. First of all, the concept of the convex metric space endowed with a directed graph is given. Furthermore, Mann iteration and the convergence theorems for the G-monotone contractive mappings and the G-monotone nonexpansive mappings in convex metric spaces endowed with a directed graph is shown to state that the Mann iterative sequence does not necessarily converge to the fixed point of the G-monotone nonexpansive mapping.

2. Basic concept and notations

As usual, in this paper the symbols \mathbb{R} and \mathbb{N} will denote the sets of all real numbers and all positive integers, respectively.

Definition 2.1. (Takahashi [9]) Let (X, d) be a metric space. If a mapping W from $X \times X \times [0, 1]$ to X satisfies

$$d(u, W(x, y; \lambda)) \le \lambda d(u, x) + (1 - \lambda)d(u, y)$$

for all $x, y, u \in X$ and $\lambda \in [0, 1]$, then the space (X, d, W) is said to be a convex metric space.

Obviously, a Banach space is a convex metric space. However, a Fréchet space is not necessary a convex metric space.

In 1983, Goebel and Kirk [3] obtained the following important inequality:

Theorem 2.2. (Goebel and Kirk [3]) Suppose (X, d) is a metric space of hyperbolic type, let $\{\alpha_n\} \subset [0, 1)$, and suppose $\{x_n\}$ and $\{y_n\}$ are sequences in X, which satisfy for all $n \in \mathbb{N}$,

(1) $x_{n+1} \in \text{seg}[x_n, y_n]$ with $d(x_n, x_{n+1}) = \alpha_n d(x_n, y_n)$,

(2) $d(y_{n+1}, y_n) \le k d(x_{n+1}, x_n)$ among 0 < k < 1.

Then for all $i, n \in \mathbb{N}$,

$$k\left[1+\sum_{s=i}^{i+n-1}\alpha_s\right]d(x_i,y_i) \le d(x_i,y_{i+n}) + \prod_{s=i}^{i+n-1}(1-\alpha_s)^{-1}\left[kd(x_i,y_i) - d(x_{i+n},y_{i+n})\right].$$

Next, we show some basic definitions and notations of graphs.

The graph G is an ordered pair (V(G), E(G)), where V(G) is the set of vertices and E(G) is the binary relation on V(G). Elements of E(G) are called edges. If each edge of a graph is given a direction, then the graph G is called a directed graph; otherwise, it is called an undirected graph.

By G^{-1} we denote the conversion of a directed graph G, i.e., the graph obtained from G by reversing the direction of edges. Thus we have

$$E(G^{-1}) = \{(x, y) \in X \times X : (y, x) \in E(G)\}$$

Given a directed graph G, one may generate a graph \tilde{G} where we ignore the directions and replace the resulting multiple edges by single edges. We define

$$E(\tilde{G}) = E(G) \cup E(G^{-1}),$$

then G is a symmetric directed graph. The directed graph G is called reflexive, if the set E(G) contains all loops, i.e., $(x, x) \in G$ for each $x \in V(G)$. Moreover, a directed graph G is called transitive whenever

$$(x,y) \in E(G)$$
 and $(y,z) \in E(G)$ imply that $(x,z) \in E(G)$

for all $x, y, z \in V(G)$.

Throughout this paper, we always assume that the directed graph G with edge weights by assigning the distance between two vertices to each edge is symmetric, reflexive and transitive.

Definition 2.3. (Monther, Mostafa and Khamsi [5]) Let (G, d) be a weighted directed graph. A sequence $\{x_n\} \in V(G)$ is said to be

- (i) *G*-increasing if $(x_n, x_{n+1}) \in E(G)$ for all $n \in \mathbb{N}$,
- (ii) G-decreasing if $(x_{n+1}, x_n) \in E(G)$ for all $n \in \mathbb{N}$,
- (iii) G-monotone if $\{x_n\}$ is either G-increasing or G-decreasing.

Definition 2.4. (Monther, Mostafa and Khamsi [5]) Let (G, d) be a weighted directed graph. G is said to be G-complete if any Cauchy G-monotone sequence $\{x_n\}$ is convergent to a point in V(G).

Definition 2.5. (Alfuraidan and Khamsi [1]) Let (G, d) be a weighted directed graph. $T: V(G) \to V(G)$ is said to be a *G*-monotone nonexpansive mapping if

- (i) T is G-monotone, i.e., $(x, y) \in E(G)$ implies $(Tx, Ty) \in E(G)$,
- (ii) T is nonexpansive, i.e., $d(Tx, Ty) \le d(x, y)$ for any $x, y \in V(G)$ with $(x, y) \in E(G)$.

Definition 2.6. (Jachymski [4]) Let (G, d) be a weighted directed graph. $T: V(G) \rightarrow V(G)$ is said to be a *G*-monotone contraction mapping if

- (i) T is G-monotone, i.e., $(x, y) \in E(G)$ implies $(Tx, Ty) \in E(G)$,
- (ii) T is contractive, i.e., $d(Tx, Ty) \le kd(x, y)$, 0 < k < 1, for any $x, y \in V(G)$ with $(x, y) \in E(G)$.

The point $x \in V(G)$ is called a fixed point of T if Tx = x.

3. Main results

In the general linear space X, Mann iterative process is usually written as

$$x_{n+1} = \alpha_n x_n + (1 - \alpha_n) T x_n, \ \alpha_n \in (0, 1), \ n \in \mathbb{N}.$$

However, there is no addition operation in the above sense for a graph. Next, we will extend Mann iterative algorithm to the metric space endowed with a directed graph by using the convex structure.

Definition 3.1. Let (G, d) be a metric space endowed with a directed graph. Assume that a mapping W from $V(G) \times V(G) \times [0, 1]$ to V(G) satisfies

 $d(u, W(x, y; \alpha)) \le \alpha d(u, x) + (1 - \alpha)d(u, y)$

for all $x, y, u \in V(G)$ and $\alpha \in [0, 1]$. Then the space (G, d, W) is said to be a convex metric space endowed with a directed graph.

Proposition 3.2. For any $x, y \in V(G)$ and $\alpha \in [0, 1]$, we have

 $d(x,y) = d(x, W(x, y; \alpha)) + d(W(x, y; \alpha), y).$

Proof. Since (G, d, W) is a convex metric space endowed with a directed graph, we obtain

$$\begin{aligned} d(x,y) &\leq d(x,W(x,y;\alpha)) + d(W(x,y;\alpha),y) \\ &\leq \alpha d(x,x) + (1-\alpha)d(x,y) + \alpha d(x,y) + (1-\alpha)d(y,y) \\ &\leq d(x,y). \end{aligned}$$

From the above inequalities, we can get the following equalities

$$\begin{aligned} d(x,y) &= d(x,W(x,y;\alpha)) + d(W(x,y;\alpha),y), \\ d(x,W(x,y;\alpha)) &= (1-\alpha)d(x,y), \\ d(W(x,y;\alpha),y) &= \alpha d(x,y) \end{aligned}$$

for any $x, y \in V(G)$ and $\alpha \in [0, 1]$.

Remark 3.3. Let $(x, y) \in E(G)$. If there exist $u \in V(G)$ and $\alpha \in [0, 1]$ such that

$$d(x, u) = (1 - \alpha)d(x, y) \text{ and } d(u, y) = \alpha d(x, y),$$

then we denote $u \in [x, y]$. Obviously, $W(x, y; \alpha) \in [x, y]$.

Definition 3.4. A convex metric space endowed with a directed graph (G, d, W) is said to satisfy property (C) if for any $(x, y) \in E(G)$ and $u \in [x, y]$, we have $(x, u) \in E(G)$ and $(u, y) \in E(G)$.

Example 3.5. Let

$$E(G) = \{(x, y) : x \le y, \ x, \ y \in \mathbb{R}\}, V(G) = \mathbb{R},$$

and $d(x, y) = |x - y|$. We choose $u \in [x, y]$, it is not difficult to see that
 $[x, y] = \{z : z = \alpha x + (1 - \alpha)y, \ \alpha \in [0, 1]\}.$

Obviously, $(x, u) \in E(G)$ and $(u, y) \in E(G)$.

Now we construct the Mann iterative sequence in a convex metric space endowed with a directed graph.

Lemma 3.6. Let (G, d, W) be a convex metric space endowed with a directed graph satisfying Property (C). Let a mapping $T : V(G) \to V(G)$ be *G*-monotone. Choose $x_1 \in V(G)$ such that $(x_1, Tx_1) \in E(G)$. Then the Mann iterative sequence $\{x_n\}$ is defined by

$$x_{n+1} = W(x_n, Tx_n; \alpha_n), \ n \in \mathbb{N}, \alpha_n \in (0, 1).$$
 (3.1)

Then $(x_i, x_j) \in E(G), (x_l, Tx_k) \in E(G)$ for any $i, j, l, k \in \mathbb{N}$.

Proof. From Proposition 3.2, it follows that

$$d(x_1, x_2) = d(x_1, W(x_1, Tx_1; \alpha_1)) = (1 - \alpha_1)d(x_1, Tx_1),$$

$$d(x_2, Tx_1) = d(W(x_1, Tx_1; \alpha_1), Tx_1) = \alpha_1 d(x_1, Tx_1)$$

which imply $x_2 \in [x_1, Tx_1]$. By property (C), we obtain

$$(x_1, x_2) \in E(G) \text{ and } (x_2, Tx_1) \in E(G).$$

We can conclude that $(Tx_1, Tx_2) \in E(G)$ since T is G-monotone. Noticing that G is transitive, we also get $(x_2, Tx_2) \in E(G)$. By induction, for any $p \in \mathbb{N}$, we deduce that $x_{p+1} \in [x_p, Tx_p]$, and

$$(x_p, x_{p+1}) \in E(G), \ (x_{p+1}, Tx_p) \in E(G),$$

 $(Tx_p, Tx_{p+1}) \in E(G), \ (x_{p+1}, Tx_{p+1}) \in E(G).$

Therefore, we complete the proof by the transitivity of G.

Theorem 3.7. Let (G, d, W) be a G-complete convex metric space endowed with a directed graph satisfying Property (C). Suppose $T: V(G) \to V(G)$ is a G-monotone nonexpansive mapping. We choose $x_1 \in V(G)$ such that $(x_1, Tx_1) \in E(G)$. If the sequence $\{x_n\}$ is defined by (3.1) for $\alpha_n \in (0, 1)$ such that $\sum_{n=1}^{\infty} (1 - \alpha_n) < +\infty$, then $\{x_n\}$ converges to some point $x \in V(G)$.

Proof. By Lemma 3.6, we deduce that $(x_n, x_{n+1}) \in E(G)$ which implies the sequence $\{x_n\}$ is G-monotone. From Proposition 3.2, it follows that

$$d(x_n, x_{n+1}) = d(x_n, W(x_n, Tx_n; \alpha_n)) = (1 - \alpha_n)d(x_n, Tx_n).$$

For any $n \in \mathbb{N}$, we have

$$\begin{aligned} d(x_n, Tx_n) &\leq d(x_n, Tx_{n-1}) + d(Tx_{n-1}, Tx_n) \\ &\leq d(W(x_{n-1}, Tx_{n-1}; \alpha_{n-1}), Tx_{n-1}) + d(x_{n-1}, x_n) \\ &= \alpha_{n-1}d(x_{n-1}, Tx_{n-1}) + (1 - \alpha_{n-1})d(x_{n-1}, Tx_{n-1}) \\ &= d(x_{n-1}, Tx_{n-1}) \leq \dots \leq d(x_1, Tx_1), \end{aligned}$$

which shows that the sequence $\{d(x_n, Tx_n)\}$ is nonincreasing.

For all $n, p \in \mathbb{N}$, we obtain

$$d(x_n, x_{n+p}) \le d(x_n, x_{n+1}) + d(x_{n+1}, x_{n+2}) + \dots + d(x_{n+p-1}, x_{n+p})$$

$$\le [(1 - \alpha_n) + (1 - \alpha_{n+1}) + \dots + (1 - \alpha_{n+p-1})] d(x_1, Tx_1)$$

$$= \sum_{s=n}^{\infty} (1 - \alpha_s) d(x_1, Tx_1).$$

Since $\sum_{1}^{\infty} (1 - \alpha_n) < +\infty$, we have $\sum_{s=n}^{\infty} (1 - \alpha_s) \to 0$ as $n \to \infty$. Hence, we conclude that $\{d(x_n, x_{n+p})\}$ converges uniformly to 0 with respect to p when $n \to \infty$, which

that $\{d(x_n, x_{n+p})\}$ converges uniformly to 0 with respect to p when $n \to \infty$, which implies that $\{x_n\}$ is a Cauchy G-monotone sequence. Since (G, d, W) is G-complete, then $\{x_n\}$ is convergent to some point $x \in V(G)$.

Remark 3.8. Theorem 3.7 claims that the Mann iteration $\{x_n\}$ is convergent. Unfortunately, we have not verified that $\{x_n\}$ converges to a fixed point of the *G*-monotone nonexpansive mapping *T*. Actually, we can see from the following example that $\{x_n\}$ does not necessarily converge to the fixed point of *T* under the conditions of Theorem 3.7.

Before giving an example, we recall a useful lemma.

Lemma 3.9. (Stein and Shakarchi [8]) For a sequence $\{a_n\} \subseteq \mathbb{R}$, if there exists $n_0 \in \mathbb{N}$ such that $a_n > 0$ or $a_n \in [-1, 0]$ for all $n \ge n_0$, then $\prod_{n=1}^{\infty} (1 + a_n)$ and $\sum_{n=1}^{\infty} a_n$ are simultaneously convergent or divergent.

Example 3.10. Let V(G) = [0, 1]. For any $x \in V(G)$, set $Tx = \frac{x}{2}$. Define $E(G) = \{(x, y) : x, y \in V(G)\}.$

We pick the initial value $x_1 = 1$, then $Tx_1 = \frac{1}{2}$. Obviously, $(x_1, Tx_1) \in E(G)$. Assume that the sequence $\{x_n\}$ is defined by (1) and $\alpha_n = 1 - \frac{1}{2^n}$. We also define d(x, z) = |x - z| which is the Euclidean metric. Then $\{x_n\}$ converges to some point $x \in V(G)$ which is not a fixed point of T.

Proof. First of all, we will show that the sequence $\{x_n\}$ converges to some point $x \in V(G)$ which coincides with the conclusion of Theorem 3.7. Since $d(x_1, Tx_1) = \frac{1}{2}$, we obtain

$$d(x_1, x_2) = d(x_1, W(x_1, Tx_1; \alpha_1))$$

= $(1 - \alpha_1)d(x_1, Tx_1) = \frac{1}{2} \times \frac{1}{2} = \frac{1}{4},$
$$d(Tx_1, x_2) = d(Tx_1, W(x_1, Tx_1; \alpha_1))$$

= $\alpha_1 d(x_1, Tx_1) = \left(1 - \frac{1}{2}\right) \times \frac{1}{2} = \frac{1}{4}.$

Therefore,

$$x_{2} = x_{1} - d(x_{1}, x_{2}) = 1 - \frac{1}{2^{2}} = \frac{3}{4},$$
$$Tx_{2} = \frac{x_{2}}{2} = \frac{1}{2} \left(1 - \frac{1}{2^{2}} \right) = \frac{3}{8},$$
$$d(x_{2}, Tx_{2}) = \frac{1}{2} \left(1 - \frac{1}{2^{2}} \right) = \frac{3}{8}.$$

By calculating, we get

$$d(x_2, x_3) = (1 - \alpha_2)d(x_2, Tx_2) = \frac{1}{2^2} \cdot \frac{1}{2} \left(1 - \frac{1}{2^2}\right) = \frac{1}{2^3} \left(1 - \frac{1}{2^2}\right),$$
$$d(Tx_2, x_3) = \alpha_2 d(x_2, Tx_2) = \left(1 - \frac{1}{2^2}\right) \frac{1}{2} \left(1 - \frac{1}{2^2}\right).$$

Hence,

$$x_{3} = x_{2} - d(x_{2}, x_{3}) = \left(1 - \frac{1}{2^{2}}\right) - \frac{1}{2^{3}}\left(1 - \frac{1}{2^{2}}\right) = \left(1 - \frac{1}{2^{3}}\right)\left(1 - \frac{1}{2^{2}}\right),$$
$$Tx_{3} = \frac{1}{2}\left(1 - \frac{1}{2^{2}}\right)\left(1 - \frac{1}{2^{3}}\right),$$
$$d(x_{3}, Tx_{3}) = \frac{1}{2}\left(1 - \frac{1}{2^{2}}\right)\left(1 - \frac{1}{2^{3}}\right).$$

By induction, we conclude that

$$d(x_{n-1}, x_n) = (1 - \alpha_{n-1})d(x_{n-1}, Tx_{n-1})$$

= $(1 - \alpha_{n-1})\frac{x_{n-1}}{2} = \frac{1}{2^n} \prod_{i=1}^{n-2} \left(1 - \frac{1}{2^{i+1}}\right),$
$$d(Tx_{n-1}, x_n) = \alpha_{n-1}\frac{x_{n-1}}{2} = \frac{1}{2} \left(1 - \frac{1}{2^n}\right) \prod_{i=1}^{n-2} \left(1 - \frac{1}{2^{i+1}}\right).$$

Thus,

$$x_n = x_{n-1} - d(x_{n-1}, x_n) = \prod_{i=1}^{n-1} \left(1 - \frac{1}{2^{i+1}} \right) = \prod_{i=2}^n \left(1 - \frac{1}{2^i} \right), \quad (3.2)$$

$$Tx_n = \frac{x_n}{2} = \frac{1}{2} \prod_{i=2}^n \left(1 - \frac{1}{2^i}\right).$$
(3.3)

For large enough n, we have

$$\prod_{i=2}^{n} \left(1 - \frac{1}{i^2} \right) < \prod_{i=2}^{n} \left(1 - \frac{1}{2^i} \right) < 1.$$

Noticing that $\sum_{i=1}^{\infty} \frac{1}{2^i} = 1$, it follows from Lemma 3.9 that $\lim_{n \to \infty} \prod_{i=2}^n \left(1 - \frac{1}{2^i}\right)$ exists. Assume that

$$\lim_{n \to \infty} \prod_{i=2}^{n} \left(1 - \frac{1}{2^i} \right) = x$$

Combining with (2) and (3), we get $x_n \to x$ and $Tx_n \to \frac{x}{2}$ when $n \to \infty$. Since

$$\lim_{i \to \infty} \prod_{i=2}^{n} \left(1 - \frac{1}{i^2} \right) = \frac{1}{2}$$

which implies that $x \neq 0$, then x is not a fixed point of T.

Now, we will consider the convergence of Mann iteration for G-monotone contraction mappings.

Theorem 3.11. Let (G, d, W) be a convex metric space endowed with a directed graph satisfying Property (C). Suppose $T: V(G) \to V(G)$ is a *G*-monotone contraction mapping. Choose $x_1 \in V(G)$ such that $(x_1, Tx_1) \in E(G)$. If the sequence $\{x_n\}$ is defined by (1) for $\alpha_n \in (0, 1)$, then for all $i, n \in \mathbb{N}$,

$$k\left[1 + \sum_{s=i}^{i+n-1} (1 - \alpha_s)\right] d(x_i, Tx_i) \le d(x_i, Tx_{i+n}) + \prod_{s=i}^{i+n-1} \alpha_s^{-1} \left[kd(x_i, Tx_i) - d(x_{i+n}, Tx_{i+n})\right].$$

Proof. By Proposition 3.2, Definition 2.6 and Definition 3.1, it is not difficult to see that the sequences $\{x_n\}$ and $\{Tx_n\}$ satisfy

(1) $x_{n+1} = W(x_n, Tx_n; \alpha_n)$ with $d(x_n, x_{n+1}) = (1 - \alpha_n)d(x_n, Tx_n)$ and $d(Tx_{n+1}, x_{n+1}) \le \alpha_n d(Tx_{n+1}, x_n) + (1 - \alpha_n)d(Tx_{n+1}, Tx_n),$ (2) $d(Tx_{n+1}, Tx_n) \le kd(x_{n+1}, x_n)$ among 0 < k < 1,

for all $n \in \mathbb{N}$.

The remaining proof is similar to Theorem 2.2 (see [3]), so we omit it here. \Box

Theorem 3.12. Let (G, d, W) be a G-complete convex metric space endowed with a directed graph satisfying Property (C). Suppose $T: V(G) \to V(G)$ is a G-monotone contraction mapping. Choose $x_1 \in V(G)$ such that $(x_1, Tx_1) \in E(G)$. If the sequence $\{x_n\}$ is defined by (1) for $\alpha_n \in [a, b](0 < a < b < 1)$, then $\{x_n\}$ converges to some point $x \in V(G)$ which is a fixed point of T.

Proof. Similar to the procedure of Theorem 3.7, we conclude that the sequence $\{d(x_n, Tx_n)\}$ is nonincreasing. Then the limit $\lim_{n\to\infty} d(x_n, Tx_n)$ exists. For any $n, m \in \mathbb{N}$, we have

$$d(x_n, x_m) \le d(x_n, Tx_n) + d(Tx_n, Tx_m) + d(Tx_m, x_m) \le d(x_n, Tx_n) + kd(x_n, x_m) + d(Tx_m, x_m),$$

which implies

$$(1-k)d(x_n, x_m) \le d(x_n, Tx_n) + d(Tx_m, x_m).$$
(3.4)

From Theorem 3.11, it follows that

$$k\left[1 + \sum_{s=i}^{i+p-1} (1 - \alpha_s)\right] d(x_i, Tx_i) \le d(x_i, Tx_{i+p}) + \prod_{s=i}^{i+p-1} \alpha_s^{-1} \left[kd(x_i, Tx_i) - d(x_{i+p}, Tx_{i+p})\right],$$
(3.5)

for all $i, p \in \mathbb{N}$. Noticing that

$$\lim_{i \to \infty} [kd(x_i, Tx_i) - d(x_{i+p}, Tx_{i+p})] \le 0,$$

we will consider the following two cases.

(i) If $\lim_{i \to \infty} [kd(x_i, Tx_i) - d(x_{i+p}, Tx_{i+p})] = 0$, it follows from k < 1 that

$$\lim_{i \to \infty} d(x_i, Tx_i) = 0.$$

(ii) If $\lim_{i \to \infty} [kd(x_i, Tx_i) - d(x_{i+p}, Tx_{i+p})] < 0$, noting that

$$d(x_i, Tx_{i+p}) \le d(x_i, Tx_i) + d(Tx_i, Tx_{i+p}) \le d(x_i, Tx_i) + kd(x_i, x_{i+p}), b^{-p} \le \prod_{s=i}^{i+p-1} \alpha_s^{-1} \le a^{-p}$$

and combining with (3.5), for large enough *i*, we get

$$\left\{ k \left[1 + \sum_{s=i}^{i+p-1} (1-\alpha_s) \right] - 1 \right\} d(x_i, Tx_i) \le k d(x_i, x_{i+p}), \ p \in \mathbb{N}.$$
(3.6)

Since

$$\sum_{n=1}^{\infty} (1 - \alpha_n) = +\infty,$$

we have

$$k\left[1 + \sum_{s=i}^{i+p-1} (1 - \alpha_s)\right] - 1 > 0$$

for large enough p. From (3.4) and (3.6), it follows that

$$d(x_i, Tx_i) \le \frac{k}{k \left[1 + \sum_{s=i}^{i+p-1} (1 - \alpha_s)\right] - 1} d(x_i, x_{i+p})$$

$$\le \frac{k}{k \left[1 + \sum_{s=i}^{i+p-1} (1 - \alpha_s)\right] - 1} \frac{1}{(1 - k)} \left[d(x_i, Tx_i) + d(Tx_{i+p}, x_{i+p})\right].$$

By letting $i, p \to \infty$, we infer that

$$\lim_{i \to \infty} d(x_i, Tx_i) = 0.$$

Combining with (3.4), we obtain $d(x_n, x_m) \to 0$ as $n, m \to \infty$. Hence, $\{x_n\}$ is a Cauchy *G*-monotone sequence. Since (G, d, W) is *G*-complete, then $\{x_n\}$ converges to some point $x \in V(G)$. Since

$$\overline{\lim}_{n \to \infty} d(x_n, Tx) \le \overline{\lim}_{n \to \infty} d(x_n, Tx_n) + \overline{\lim}_{n \to \infty} d(Tx_n, Tx)$$
$$\le \overline{\lim}_{n \to \infty} d(x_n, Tx_n) + k \overline{\lim}_{n \to \infty} d(x_n, x) = 0,$$

we deduce that

$$\lim_{n \to \infty} d(x_n, Tx) = 0.$$

By the uniqueness of the limit, we obtain x = Tx which shows that x is a fixed point of T.

Example 3.13. Let V(G) = [0, 1] and define

$$E(G) = \{(x, y) : x, y \in V(G)\}.$$

We also define d(x, z) = |x - z| for all $x, z \in V(G)$. For any $x \in V(G)$, set $Tx = \frac{x}{2}$. We pick the initial value $x_1 = 1$, then $(x_1, Tx_1) \in E(G)$. Assume that the sequence $\{x_n\}$ is defined by (3.1) and $\alpha_n = \varepsilon$ for each $n \in \mathbb{N}$, where $\varepsilon \in (0, 1)$. Then $\{x_n\}$ is convergent to 0 which is a fixed point of T.

Proof. Similar to the procedure of Example 3.10, we get

$$d(x_{n-1}, x_n) = (1 - \alpha_{n-1})d(x_{n-1}, Tx_{n-1}) = (1 - \alpha_{n-1})\frac{x_{n-1}}{2}$$

and

$$x_n = x_{n-1} - d(x_{n-1}, x_n) = x_{n-1} - (1 - \alpha_{n-1})\frac{x_{n-1}}{2} = \frac{x_{n-1}}{2}(1 + \alpha_{n-1})$$
$$= x_1 \frac{1}{2^{n-1}} \prod_{i=1}^{n-1} (1 + \alpha_i) = (\frac{1 + \varepsilon}{2})^{n-1}.$$

Then

$$Tx_n = \frac{x_n}{2} = \frac{1}{2} \left(\frac{1+\varepsilon}{2}\right)^{n-1}.$$
(3.7)

Therefore, letting $n \to \infty$ in (3.7), we obtain

$$x_n \to 0 \text{ and } Tx_n \to 0.$$

Hence, 0 is a fixed point of T.

Acknowledgement. This work was supported by the fund Shandong Provincial Natural Science Foundation under grant ZR2020MA006 University Nursing Program for Youth Scholars with Creative Talents in Heilongjiang Province under Grant UNPYSCT-2017078, Postdoctoral Science Foundation of Heilongjiang Province under Grant LBH-Q18067 and the Introduction and Cultivation Project of Young and Innovative Talents in Universities of Shandong Province.

References

- M.R. Alfuraidan, M.A. Khamsi, On multivalued G-monotone Ciric and Reich contraction mappings, Filomat, 31(2017), 3285-3290.
- [2] S. Banach, Sur les opérations dans les ensembles abstraits et leur application aux équations intégrales, Fundamenta Mathematicae, 3(1922), 133-181.
- [3] K. Goebel, W.A. Kirk, Iteration processes for nonexpansive mapping, Contemporary Math., 21(1983), 115-123.
- [4] J. Jachymski, The contraction principle for mappings on a metric space with a graph, Proc. Amer. Math. Soc., 136(2008), no. 1, 1359-1373.
- [5] R. Monther, B. Mostafa, A. Khamsi, Almost monotone contractions on weighted graphs, J. Nonlinear Sci. Appl., 9(2016), 5189-5195.
- [6] J. Nieto, R. Rodríguez-López, Contractive mapping theorems in partially ordered sets and applications to ordinary differential equations, Order., 22(2005), no. 3, 223-239.
- [7] A.C.M. Ran, M.C.B. Reurings, A fixed point theorem in partially ordered sets and some applications to matric equations, Proc. Amer. Math. Soc., 132(2004), no. 5, 1435-1443.
- [8] E.M. Stein, R. Shakarchi, Real Analysis, Princeton University Press, 2005.
- [9] W. Takahashi, A convexity in metric space and nonexpansive mappings, Kodai Math. J., 22(1970), 142-149.

Received: March 7, 2019; Accepted: November 16, 2020.

LILI CHEN, NI YANG AND YANFENG ZHAO